2006 2007 2008
4-
134 138 138
5 11
40 42 43
4-
20 22 20
3 1 1
2 1 1
2 3 2




2006 2007 2008
12,8000 13,0000 15,2000
:1,000km :800km :800km
60 50 50
4-
2 2 2
4-
97 ) 97 97




24,740,464 19,460,679 5,279,785
17,099,356 11,574,265 5,525,091
4: 17,099,356 11,574,265 5,525,091
4- 1,534,739 1,558,668 23,929
1,534,739 1,558,668 23,929

(3320-332B-120-201-01)

(=3,725)
- 30,00
- 46,16
- 26,00
- 18,00
(3320-332B-120-202-01)
75,800 * 3
75,800 * 2
75,800 * 2
(3320-332B-120-301-12)
(=9, 305)
70,00
196,33
(3320-332B-120-405-02)
(3320-332B-220-206-00)
(=4,400)
( )
(

0*31 *1
0*31 *1
0*31 *1
0*31 *1
45,000 * 12
*2 *8
*2 *3
*3 *2
0*5 *12
7*2 *13
30,000 * 5

200,000 * 12

930
1,431
806
558
540

3,639
11,160
910
910

4,200

5,105

150

2,400

1,000
1,000




)
(3320-332B-220-401-01)
(=1,500,000)
47 1 = 1,500,000
a- 6,849,993 3,798,988 3,051,005
6,203,500 2,601,300 3,602,200
(3320-332B-220-401-01)
« , , = 1,500,000
= 400,000
= 900,000
4,000,000
(=1,500,000)
= 400,000
= 400,000
= 400,000
= 300,000
(=1,800,000)
= 400,000
= 300,000
= 200,000
= 400,000
= 500,000
(3320-332B-220-401-02)
= 100,000
(3320-332B-220-405-01)
(sgs) 3,500,000 * 1 = 3,500
646,493 1,197,688 551,195
(3320-332B-120-201-01)
250,000 * 24 = 6,000




(668 *2
(725K
(150K
1(250KW)
2(250K W)
(250K

CCTV

1,000,000 * 1
(=22,668)
) 399,000 * 2 * 12
496,000 * 12
133,000 * 12
154,000 * 12
154,000 * 12
154,000 * 12
(=1,620)
100,000 * 12
35,000 * 12
(=1,184)
30,000 * 16 * 1
26,000 * 16 * 1
18,000 * 16 * 1
100,000,000 * 3 * 0.5%
(=6,650)

100,000,000 * 4% * 0.5

20,000,000 * 3 * 4%

100,000,000 * 5% * 0.5 * 0.9

4,000,000 * 116 * 5% * 0.5
(=162,469)

1,000

9,576
5,952
1,596
1,848
1,848
1,848

1,200
420

480

416

288

1,500

2,000

2,400

2,250

11,600




)
56,000 * 7,007 * 365 * 12/9,000 * 0.4 = 76,386
45,000 * 3,167 * 365 * 12/9,000 * 0.4 * 2 = 55,486
- 53,000 * 11,004 * 3% * 0.8 = 13,998
- 185,000 * 8,972 * 2% * 0.5 = 16,599
4,000,000 * 8  * 0.5 = 16,000
20,000,000 * 8 * 5/100 * 0.5 * 0.9 = 3,600
1,500,000 * 7 * 0.5 * 0.9 = 4,725
(=16,200)
- 3,000,000 * 34 * 10% = 10,200
- 15,000,000 * 4 * 10% = 6,000
142,000,000 * 7 * 0.5% = 4,970
20,000,000 * 5/100 * 5 * 0.7 = 3,500
(=7,067)
- ( )
1,000 * 33 *53 *3  *0.9-= 430
- ( )
1,000 * 18 * 10  *12 *3  * 0.9 = 5,832
- 5,750,000 * 2 * T = 805
1,000,000 * 7 *1 = 7,000
10,000,000 * 1 = 10,000

(3320-332B-120-202-01)

1,440




(3320-332B-220-206-00)

1,000,000 * 7 = 7,000
50,000 * 3 *12 = 1,800
« . ) (=3,500)

200,000 * 7 = 1,400
300,000 * 7 = 2,100
6,000,000 * 5 = 30,000

(3320-332B-220-401-01)

(=315,000)
35,000,000 * 7 = 245,000
35,000,000 * 2 = 70,000
6,583,196 5,978,434 604,762
5,266,608 4,767,593 499,015
(3320-332B-110-101-09)
(=2,712,881)
(=873,792)

- 714,000 * 74 * 12 = 634,032
- 90,000 * 74 * 12 = 79,920
- 70,000 * 74 * 12 = 62,160
- 110,000 * 74 * 12 = 97,680

(=458,741)
- 873,792,000 / 12 * 200% = 145,632
- 873,792,000 / 12 * 180% = 131,069
- 873,792,000 / 12 * 250% = 182,040
23,800 * 14 * 74 *12 = 295,882
52,200 * 20 * 2 * 12 = 25,056
13,000 * 74 * 30 * 12 = 346,320




)
17,400 * 30 * 20 * 12 = 125,280
34,800 * 74 * 18 = 46,354
30,000 * 74 * 12 = 26,640
(=47,065)
30,000 * 74 * 0.78 * 12 = 20,780
20,000 * 74 * 1.48 * 12 = 26,285
(=21,087)
47,700 * 74 * 0.2 * 4 = 2,824
385,600 * 74 * 0.16 * 4 = 18,263
90,000 * 74 * 12 = 79,920
70,000 * 74 * 12 = 62,160
120,000 * 74 * 12 = 106,560
100,000 * 74 * 12 = 88,800
873,792,000 / 12 * 150% = 109,224
3,061,600 * 7 * 100% * 2 = 42,863
(=318,053)
2,712,880,000 * 4.50% = 122,080
2,712,880,000 * 2.155% = 58,463
2,712,880,000 * 1.25% = 33,911
(=90, 285)
( 57 )
2,712,880,000 * 57 / 75 * 3.40% = 70,101
( 18 )
2,712,880,000 * 18 / 75 * 3.10% = 20,184
500,000 * 2 = 1,000
(=12,314)
30,000 * 74 *1 = 2,220
60,000 * 74 * 1 = 4,440




(3320-332B-120-201-01)

A/P

( 25
12
(=51,844)
14 )
0.9 )
(2.3 )
(1.34 )
(3.6m)
(10 )
(15 )
(20 )
(1m, 2m)
(2.5-7m)

23,000 * 74
12,000 * 74 * 1
10,000 * 74
26,400 * 74
5,000 * 74

(=1,648)

60,000 * 12 * 0.

400,000 * 1

(=2,674)
30,000 * 29 *
46,160 * 29  *
26,000 * 15 *
5,000 * 15 *
) (=199,894)
199,894,000 * 1

[ S

3,424,000 *
2,371,000 *
4,187,000 *
3,030,000 *
2,941,000 *
1,962,000 *
2,782,000 *
3,638,000 *
4,994,000 *
6,420,000 *

o O O O O O o o o o

oo oo
*

N D W N R R RN

1,702
888
740

1,954
370

648
400
600

870
1,339
390
75

199,894

1,712
1,186
4,187
1,515
1,471

981
2,782
5,457
4,994
6,420




)
— AJP (3,0000 ) 2,217,000 * 0.5 * 1 = 1,109
- G ) 5,394,000 * 0.5 * 5 = 13,485
- 0.27 ) 2,889,000 * 0.5 * 1 = 1,445
- 6 17 ) 600,000 * 0.5 * 17 = 5,100
(3320-332B-120-202-01)
= 3,000
75,800 * 2 *3 *4 = 1,820
(3320-332B-120-203-03)
= 1,000
= 2,000
(3320-332B-120-307-07)
1,800,000 * 10 = 18,000
(3320-332B-120-405-02)
30,000 * 5 = 150
(3320-332B-220-206-00)
( 6 ) 500,000 * 12 = 6,000
(=70,600)
4,500 * 800 * 12 = 43,200
900,000 * 1 * 12 = 10,800
95,000 * 80 = 7,600
, 50,000 * 15 * 12 = 9,000
(=32,150)
2,000,000 * 1 = 2,000
6,000,000 * 1 = 6,000
10,150,000 * 1 = 10,150
14,000,000 * 1 = 14,000

(3320-332B-220-401-01)

1,800,000




(3320-332B-220-405-01)

( ) 677,000 * 3 = 2,031
516,800 519,200 2,400
(3320-332B-220-206-00)
1,400,000 * 12 = 16,800
(3320-332B-220-401-01)
= 500,000
799,788 691,641 108,147
(3320-332B-120-201-01)
(=2,126)
- 218,000 * 6 = 1,308
- 306,000 * 2 = 612
- 103,000 * 2 = 206
(=1,080)
- 180,000 * 6 = 1,080
120,000 * 2 = 240
. A/P 15,000,000 * 1 = 15,000
(=13,900)
- 2,500,000 * 3 = 7,500
- 400,000 * 16 = 6,400
A/P (80-100 ) (=188,933)
- 800 * 3400 * 480 * 1 = 130,560
- 800 * 1300 * 520 * 1 = 54,080
- 530 *0p *900 * 1 = 4,293
(=78,509)
- AP (80-100t/h) 57,780,000 * 0.6 * 1 = 34,668
- (70 ) 41,545,000 * 0.5 * 2 = 41,545
- 1,000,000 * 1 = 1,000




-10-

- 120,000 * 12 * 0.9 = 1,296
(3320-332B-220-401-01)
( 75,000 ) (=500,000)
. AP 1 = 500,000
4- 1,617,827 25741 1,592,086
1,604,220 4,304 1,599,916
(3320-332B-110-101-10)
33,500 * 4 * 10 = 1,340
(3320-332B-120-201-01)
(=2,880)
- 120,000 * 6 = 720
- 120,000 * 10 = 1,200
- 120,000 * 8 = 960
(3320-332B-220-401-01)
= 1,600,000
13,607 21,437 7,830
(3320-332B-120-201-01)
2,000,000 * 1 = 2,000
. KS 3,780,000 * 1 = 3,780
= 2,000
(3320-332B-120-202-01)
75,800 * 3 *3 = 683
75,800 * 2 * 2 = 304
(3320-332B-220-206-00)
(=4,840)
90,000 * 12 = 1,080
500,000 * 2 = 1,000
90,000 * 12 = 1,080




140,000 * 12 = 1,680
4- 513,601 212,434 301,167
60,928 147,225 86,297
(3320-332B-120-201-01)
(=3,760)
- 100,000 * 12 * 0.9 = 1,080
- = 1,000
- 140,000 * 12 = 1,680
(=5,604)
- 150,000 * 25 * 1 = 3,750
- 46,160 * 25 * 1 = 1,154
- 18,000 * 25 * 1 = 450
- ( ) 10,000 * 25 * 1 = 250
(3320-332B-120-202-01)
100,000 * 25 * 12 = 30,000
(3320-332B-120-203-03)
= 4,000
= 1,000
= 1,000
(3320-332B-120-301-09)
(=15,564)
65,000 * 6 * 12 = 4,680
44,000 * 6 * 12 = 3,168
88,000 * 6 * 12 = 6,336
156,000 * 6 * 1 = 936
74,000 * 6 *1 = 444
452,673 65,209 387,464

(3320-332B-110-101-10)

-11-




-12-

)
(=407,595)
33,500 * 30 * 200 = 201,000
4,380 * 42 *30 *12 = 66,226
16,750 * 30 * 7 * 12 = 42,210
33,500 * 30 * 29 = 29,145
52,500 * 30 * 30 = 47,250
201,000,000 * 4.5% = 9,045
201,000,000 * 1.25% = 2,513
201,000,000 * 0.6% = 1,206
150,000 * 30 * 2 = 9,000
(3320-332B-120-201-01)
(=12,525)
- 2,050,000 * 4 * 0.75 = 6,150
- 3,450,000 * 2 * 0.75 = 5,175
- 50,000 * 12 *2  * 0.75 = 900
- 200,000 * 2 * 0.75 = 300
(=11,026)
- 2,050,000 * 1 * 0.75 = 1,538
- 3,500,000 * 1 * 0.75 = 2,625
- 3,450,000 * 2 * 0.75 = 5,175
- 50,000 * 3 * 12 * 0.75 = 1,350
- 150,000 * 3 * 0.75 = 338
300,000 * 25 * 0.75 = 5,625
(=1,238)
- 100,000 * 12 * 0.75 = 900
- 150,000 * 3 * 0.75 = 338
2,000,000 * 4 * 0.75 = 6,000




(3320-332B-220-206-00)

(=664)

20,000 * 20 = 400
26,400 * 10 = 264

(3320-332B-220-401-01)
8,000,000 * 1 = 8,000

7,641,108 7,886,414 245,306
(3320-332B-110-101-01)
(=3,174,995)
a) 58,423,000 + 58,423,000 * 66% * 3% = 59,580
(155 ) (=3,115,415)

-5 2,844,000 * 5 * 12 *1.03 = 175,760
-6 2,451,000 * 17 * 12 * 1.03 = 515,005
-7 1,962,000 * 37 * 12 * 1.03 = 897,262
-8 1,615,000 * 33 * 12 * 1.03 = 658,727
-9 1,248,000 * 35 * 12 * 1.03 = 539,885
- 10 950,000 * 28 * 12 * 1.03 = 328,776
3,115,415,000 * 1/12 = 259,618

(3320-332B-110-101-02)

(=548,291)
(=308,441)

-5 9,471 * 5 * 42 * 12 *1.03 = 24,583
-6 8,036 * 14 * 42 *12 % 1.03 = 58,404
-7 7,210 * 17 * 42 *12  *1.03 = 63,629
-8 6,461 * 14 * 42 *12 *1.03 = 46,957
-9 5,794 * 21 * 42 *12 % 1.03 = 63,164
- 10 5,242 * 19 * 42 *12 % 1.03 = 51,704

(=63,986)

-13-




-14-

)
-7 7,210 * 3 * 42 12 1.03 11,229
-8 6,461 * 8 * 42 12 1.03 26,833
-9 5,794 * 5 * 42 12 1.03 15,039
- 10 5,242 * 4 * 42 12 1.03 10,885
(=96,772)
-6 8,036 * 2 * 42 12 1.03 8,344
-7 7,210 * 11 * 42 12 1.03 41172
-8 6,461 * 7 * 42 12 1.03 23,479
-9 5,794 * 7 * 42 12 1.03 21,055
- 10 5,242 * 1 * 42 12 1.03 2,722
(=62,624)
-6 8,036 * 1 * 62 12 1.03 6,159
-7 7,210 * 6 * 62 12 1.03 33,152
-8 6,461 * 3 * 62 12 1.03 14,854
-9 5,794 * 1 * 62 12 1.03 4,441
- 10 5,242 * 1 * 62 12 1.03 4,018
(=16,468)
-7 7,210 * 1 * 42 12 1.03 3,743
-8 6,461 * 2 * 42 12 1.03 6,709
-9 5,794 * 2 * 42 12 1.03 6,016
(=149,911)
(=28,438)
-7 19,224 * 3 * 7 12 1.03 4,990
-8 17,232 * 8 * 7 12 1.03 11,928
-9 15,448 * 5 * 7 12 1.03 6,683
- 10 13,976 * 4  * 7 12 1.03 4,837
(=61,439)
-6 21,432 * 2 * 10 12 1.03 5,298




-8
-9
- 10

-8
-9

-7
-8
-9
- 10

19,224 * 11
17,232 * 7
15,448 * 7
13,976 * 1
(=40,401)
21,432 * 1
19,224 *
17,232 *
15,448 *
13,976 *
(=4,794)
17,232 * 1
15,448 * 3
13,976 * 1
(=8,079)
17,232 * 1
15,448 * 1
(=6,760)
19,224 * 1
17,232 * 1

P, W O

(=41,978)
(=28,616)
54,313
48,671
43,149
39,491
(=5,371)
54,313

* 10
* 10
* 10
* 10

* 15
* 15
* 15
* 15
* 15

*5
*5
*5

* 20
* 20

* 15
* 15

12
12
12
12

12
12
12
12
12

12
12
12

12
12

12
12

30
30
30
30

24

A

S

= = =

.03
.03
.03
.03

.03
.03
.03
.03
.03

.03
.03
.03

.03
.03

.03
.03

.03
.03
.03
.03

.03

26,137
14,910
13,366

1,728

3,974
21,385
9,585
2,865
2,592

1,065
2,865
864

4,260
3,819

3,565
3,195

5,035
12,032
6,667
4,882

5371

-15-




-16-

)
(=1,605)
-8 48,671 * 2 * 16 * 1.03 = 1,605
(=2,462)
-7 54,313 * 2 * 22 *1.03 = 2,462
, (=3,924)
-7 54,313 * 1 * 16 * 1.03 = 896
-8 48,671 * 2 * 16 * 1.03 = 1,605
-9 43,149 * 2 * 16 * 1.03 = 1,423
(=100, 920)
30,000 * 123 * 12 = 44,280
20,000 * 236 * 12 = 56,640
(=53,746)
47,700 * 23 * 4 = 4,389
385,600 * 32 * 4 = 49,357
400,000 * 1 * 12 = 4,800
(=160, 080)
(=143, 160)
- 20 100,000 * 61 * 12 = 73,200
-15 20 80,000 * 37 * 12 = 35,520
-10 15 60,000 * 32 * 12 = 23,040
-5 10 50,000 * 19 * 12 = 11,400
(=16,920)
- 25 30,000 * 40 * 12 = 14,400
-20 25 10,000 * 21 * 12 = 2,520
«C ) 40,000 * 18 * 12 = 8,640
1,300,200,000 * 4.8% * 1.03 = 64,282
(=32,760)
.5 50,000 * 5 * 12 = 3,000




(=840)

(3320-332B-110-101-03)

(3320-3328-110-101-04)
5

6 7

8

(3320-332B-110-101-05)

(3320-332B-110-101-06)

(=17,520)

30,000 * 34
20,000 * 19
50,000 * 2
30,000 * 26
20,000 * 10

30,000 * 1
15,000 * 2
10,000 * 1

40,000 * 35
20,000 * 3
30,000 * 1
50,000 * 3

130,000 * 156
130,000 * 7

140,000 * 5
130,000 * 54
120,000 * 96

120,000 * 7

3,115,415,000 *
129,902,000 *

3,115,415,000
129,902,000

* 12
* 12
* 12
* 12
* 12

* 12
* 12
* 12

* 12
* 12
* 12
* 12

* 12
* 12

* 12
* 12
* 12
* 12

1.2/12
1.2/12

* 2/12
* 2/12

12,240
4,560
1,200
9,360
2,400

360
360
120

16,800
720
360

1,800

243,360
10,920

8,400
84,240
138,240
10,080

311,542
12,991

519,236
21,651

-17-




-18-

)
(3320-332B-110-101-07)
(=87,633)
a ) 59,580,000 * 66% * 10/360 = 1,093
(155 ) 3,115,415,000 * 10/360 = 86,540
129,902,000 * 10/360 = 3,609
(3320-332B-110-101-08)
(=206, 366)
1,501,400 * 7 * 12 * 1.03 = 129,902
129,902,000 * 1/12 = 10,826
6,132 *62 *7 *12 *1.03-= 32,894
( )
16,352 * 15 * 4 * 12 * 1.03 = 12,127
( )
16,352 * 7 *3 *12 *1.03 = 4,245
( ) 46,193 * 30 *3 *1.03 = 4,283
(=4,453)
- 30,000 * 7 *0.78 * 12 = 1,966
- : 20,000 * 7 * 1.48 * 12 = 2,487
(=5, 640)
-15 20 80,000 * 3 * 12 = 2,380
~10 15 60,000 * 3 * 12 = 2,160
-5 10 50,000 * 1 * 12 = 600
(=1,996)
- 47,700 * 7 * 0.20 * 4 = 268
- 385,600 * 7 * 0.16 * 4 = 1,728
(3320-332B-120-201-01)
= 27,000
( ) 20,000 * 80 = 1,600




15,000 * 2 * 12
187,000 * 2 * 1

(=2,700)
- 2.5 ) 300,000 * 9
150,000 * 12
( 4 ) 300,000 * 2
(=374)

1,800 * 6 * 12
- (120 * 24 +500) * 6 * 12
600 *5 *6 * 12
500,000 * 1

5,000 * 500 * 0.9

(=6,300)

- 100,000 * 23 * 1
- 100,000 * 40 * 1

300,000 * 1 *1

240,000 * 1 * 1
16,400 + (49.00 * 11,900)
, 55,000 * 2 *1 =*0.9

55,000 * 3 * 1
(=5,780)
- 60,000 * 5 * 2
- 55,000 * 2 * 2
- 60,000 * 6 * 2

360
374

2,700
1,800
600

130
244
216
500
2,250

2,300
4,000

300

240

600

99

165

600

220
720

-19-




-20-

0.

(16 ) 2,120,000 * 2
(=3,003)
65,000 * 5
400,000 * 2
28,000 * 6
16 ) 1,710,000 * 1
(=12,781)
311,000 * 5
150,000 * 2
248,000 * 6
39 ) 9,438,000 * 1
(=18,036)
@2 ) 70,000 * 19 * 12 *
30,000 * 6 * 12 *
25,000 * 4 * 12 *
5,000 * 12 * 12 *
(=2,000)
(=11,470)
800,000 * 12
110,000 * 12 *
14,000 * 12 *
14,000 * 12 =
35,000 * 12 *
(=184)
(=84)
4,000 *1 * 12

o O O o

© ©O© O ©

0
0.
0

o ©O© O O

4,240

325
800
168
1,710

1,555

300
1,488
9,438

14,364
1,944
1,080

648

1,500
500

9,600
1,188
152
152
378

48




(=529,584)

(=6,912)

14

(=120)

3,000 * 1 * 12
100,000 * 1
3,000 * 9

5,800,000 * 12
820,000 * 12 * 0.9

30,000 * 4 * 12
70,000 * 2 * 12
79,000 * 4 * 12
11,300,000 * 12
3,254,000 * 12
10,725,000 * 12
3,000,000 * 12
3,512,000 * 12
2,800,000 * 12
1,887,000 * 12

600,000 * 12 * 0.9

35,000 * 1 * 365

35,000 * 2 * 116
150,000 * 4 * 1

30,000 *4 *1

5,000 * 7 * 40
5,000 * 20 * 12

36
100
27

69,600
8,856

1,440
1,680
3,792

135,600

39,048
128,700
36,000
42,144
33,600
22,644

6,480
12,775
8,120
600

120
33,540
1,400
1,200
13,500

-21-




-22-

)
= 1,759
= 1,330
(=8,000)

1.2 = 8,000

(=6,335)
500,000 * 1 = 500
500,000 * 1 = 500
267,000 * 5 = 1,335
5,000 * 300 = 1,500
2,500,000 * 1 = 2,500
850,000 * 1 = 850
250,000 * 1 = 250
500,000 * 1 * 0.9 = 450
1,000,000 * 1 = 1,000
198,000 * 12 = 2,376

(=5,490)
1,490,000 * 1 = 1,490
4,000,000 * 1 = 4,000

(6 ) (=27,360)
2,100,000 * 12 * 0.8 = 20,160
1,500,000 * 6 * 0.8 = 7,200
(=6,823)

(20,000 ) 3,248,600 * 3 * 0.7 = 6,823

(=2,967)
(10,000 ) 2,281,000 * 1 * 70% = 1,597
(10,000 ) 1,957,000 * 1 * 70% = 1,370

(=47,541)

(=20, 455)




20,000 8,208,000 * 2 * 70%
15,000 7,004,000 * 1 * 70%
10,000 5,799,000 * 1 * 70%
- (15,000 ) 3,680,000 * 2 * 70%
- (15,000 ) 2,615,000 * 3 * 70%
- (20,000 ) 4,948,000 * 2 * 70%
- (=7,324)

15,000 6,905,000 * 1  * 70%

5,000 3,557,000 * 1 * 70%
- (5,000 ) 1,398,000 * 1 * 70%
- (5,000 ) 1,729,000 * 1 * 70%

(3320-332B-120-202-01)

100,000 * 95 * 12

(3320-332B-120-203-01)

(3320-332B-120-203-02)

(=5,680)

. 100 40,000 * 100

. 101 400 30,000 * 56

(3320-332B-120-203-04)

(=23,820)

(350,000 + 5,000 * 15 ) * 12

1 350,000 * 12

2 350,000 * 12

(350,000 + 5,000 * 32 ) * 12

350,000 * 12

(3320-332B-120-204-01)
(=10, 800)

11,492
4,903
4,060
5,152
5,492
6,928

4,834
2,490

979
1,211

114,000

3,000

4,000
1,680

5,100
4,200
4,200
6,120
4,200

-23-




-24-

)
.4 400,000 * 1 * 12 = 4,800
.5 100,000 * 5 * 12 = 6,000
(3320-332B-120-204-02)
(=240,000)
4 400,000 * 1 * 12 = 4,800
.5 250,000 * 5 * 12 = 15,000
.6 155,000 * 17 * 12 = 31,620
-7 140,000 * 37 * 12 = 62,160
.8 9 105,000 * 68 * 12 = 85,680
10 95,000 * 28 * 12 = 31,920
105,000 * 7 * 12 = 8,820
(3320-332B-120-204-03)
(=97,200)
(=97,200)
- 50,000 * 155 * 12 = 93,000
- 50,000 * 7 * 12 = 4,200
(3320-332B-220-206-00)
60,000 * 4 = 240
80,000 * 12 = 960
(3320-332B-220-405-01)
= 18,000
(=18,270)
27,000 * 10 = 270
= 18,000
1,400,000 * 13 = 18,200




